[19;:9:9:9:9:9:9:9:0:9:9:9:9:9:9:0:9:0:0.9:9:0.0.0.0.0:0.:9:9:0.9:9:0.0.0:9:0:0:0:0.0:9.:0.0:0.:0:90:9.0:9:9.:0:0:0:0.0.9:0:0.0:0:0.0:0:0.9.0:0.9:0.0.0.:0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXKMS/1-6700307-00001XX
TrigonometryExercise7 for No.9844

NOIZ{J:[C=60°,b=(12«/5«/;+36«/5:80.31),a:(24«/5«/§:58.79)]}
2=[a=(36+42 +364/24/3 =139.09), b =72, ¢ = (724/2 = 101.82)]
NOZZ[.I=[8=60°,C=75°,a=(18«/§«/§=44.09)]}
2=[C=45°,4=75b=(214/2 43 =51.44)]
N03:[ I =[A=30%c=(60+2 =8485),b=(304/2 /3 =304/2 =31.06)] }
2=[C=60%b=(104/2 43 +304/2 =66.92), a = (204/2 4/3 = 48.99)]

Nod=[a=72,b=(72+/3 = 124.71), 4 = 30°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700307-00002XX

TrigonometryExercise7 for No.9872

NO]_[ I =[B=45,a=(24+244/3 =6557),c = (244/2 =33.94)] }
TL2=Ta=72,b=(124/2 /3 £364/2 =80.31), c = (24+/2 4/3 = 58.79)]

NOZ_[.] _ [C=75°,B=45°,a=(36ﬁﬁ=88.18)]J
2=[A=105°,C=30° b= (48+/2 = 67.88)]

N(ﬁ{ I=[C=45°b=(214222970), a= (21 +214/3 =57.37)] }
TL22[4=60° c=(184/24/3 =44.09), b= (94/2 /3 +274/2 =60.23)]

Nod=[a=42,b= (2142 /3 =51.44), 4 =45°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00003XX

TrigonometryExercise7 for No.9873

I=[a=66,b=(3342=46.67),c¢=(33 +33«/§:90.16)]}
2=[B=30°c=60,a= (6043 =103.92)]
{1 _[B=75° 4 =45°,c=(24«/§«/§=58.79)]}
No2 = o o
2=[B=60°,C=75% a=(224/2 /3 =53.89)]
1=[C=30° b=(904/2 = 127.28), a = (454/2 4[3 — 4542 =46.59)]}
2=[B=45c=(364/24/3 =88.18), a = (364/3 — 36 =26.35)]

Nod=1[a=54 b= (5443 =93.53), 4 = 30°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00004XX

TrigonometryExercise7 for No.9884

NO]_{ d=[a=(484/2 =67.88), b=48, c = (244/2 +244/2 4/3 =92.73)] }
TL2=[4=60% b= (74243 +214/2 =46.84), ¢ = (144/2 43 = 34.29)]
[.1 _[4 =75°,B=60°,c=(28«/§«/§=68.59)]}
No2 =
2=[4=30° B =15 c=(604/2 =84.85)]
N03_[1 —[A=45°b=(424/2 4[3 = 102.88), c = (42 + 4243 = 114.75)]}
B 2=[C=30%b=66,a= (6643 =114.32)]

Nod=[a=48,b= (4843 =83.14),4=30"]
X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXKXKXKKXXKXKXKKXKXKK

No]:[

No3 = [




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXKXMS/1-6700307-00005XX
TrigonometryExercise7 for No.9885

NOI_{I:[a=(8«/5«/;+24«/5:53.54),b:(16«/5«/7=39.19),c:48]}
TL2=[B=30%c=(9042 = 127.28), a= (4542 + 4542 4/3 = 173.87)]
[1:[A=15°,C=30°,b=(84ﬁ=118.79)]}
No2 =
2=[C=105%4=45b=(1542 =2121)]
[.1:[C:6O°,a:(16«/5«/7:39.19),b:(8«/5«/;+24«/5:53.54)]}
No3 =
2=[Ad=45 b= (214243 =51.44), ¢ = (21 + 213 =5737)]
Nod=[a=72,b=(3642 3 =88.18), 4 = 45°]

):9:9:9.:0:9:9.:0,9:9.0:9.:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0.:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700307-00006XX
TrigonometryExercise7 for No.9895

NO[_[ I =[A=45°¢=(45424/3 =110.23), b= (4543 — 45 =32.94)] }
TL2=[a=(904/2 =127.28), b= (454/2 +454/2 4/3 = 173.87), ¢ = 90]
NOZ_[.]:[C:75°,B:6O°,a:(22«/5«/§:53.89)]}

TL2=[C=45°B=15° a= (3642 /3 =88.18)]
{]:[A:60°,c:(lzﬁ«/;:29.39),b:(6«/3«/§+18«/5:40.15)]}
No3 =
2=[B=45,c=(424/24/3 =102.88), a = (42 + 4243 = 114.75)]

Nod=[a=84,b= (8443 =145.49), 4 =30°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00007XX
TrigonometryExercise7 for No.9898

No :[.1 —la=(3342 +334/24/3 = 127.50), b = 66, c:(66«/5:93.34)]}
2

_[A=45° b= (454/2 = 63.64), c = (45 + 4543 = 122.94)]

Moo { —[C=75°B=60°a=(104/24/3 = 2449)}
2=[C=15% A=45° b= (2442 4/3 =58.79)]
N03:[ .1:[C:45,a=(21+21f=57.37),b=(21ﬁ=29.70)] }
2=[A4=30°c=(9042 = 127.28), b= (4542 4/3 —454/2 = 46.59)]

Nod=[a=90,b=(45424/3 =110.23), 4 = 45°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00008XX
TrigonometryExercise7 for No.9899

{1 _[C=30°b=(7242 =101.82), a= (3642 +364/2 4/3 = 139.09)]}
Nol =
2=[a=(15+154/3 =40.98), b =30, c = (1542 4/3 = 36.74)]
NoZ—[ I =[A=30° B=30° c=(424/3 =72.75)] }
TL2=[4=60° B=75 c=(22+/2 4/3 = 53.89)]
[1 [B=60° c=(204/2 4/3 =48.99), a=(104/2 43 +304/2 = 6692)]}
No3 =
—[A4=30% b= (8442 =118.79), c = (424/2 43 = 424/2 = 43.48)]

Nod4=[a=84,b=(424/24/3 =102.88), 4 =45°]
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXKXXKXKXKKXKKXKXKXKKXKXKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXXXKXMS5/1-6700307-00009XX

TrigonometryExercise7 for No.9920
Mol {1_[61 (144/2 4/3 =3429), h=42,c = (74/2 43 +2142 = 4684)]}
[A=45°b=(2442 = 3394)c_(24+24f 65.57)]

[ —[B=15%4=30° c—(7sﬁ—11031)]J
No2 =

2=[B=105°, C=45° a= (2442 =33.94)]

N03_[ I =[B=45 a= (42243 =102.88), c = (42 + 424/3 = 114.75)] }
TL2=1C=60° b= (1442 4/3 +424/2 =93.69), a= (2842 4/3 = 68.59)]

Nod=[a=84,b= (8443 =145.49), 4 =30°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXKXKXKXME5/1-6700307-00010XX

NO]{ I=[a=(364/3 =62.35), b=136, ¢ =36]
2=[A=60%c=(5424/3 +154/2 =33.46), b= (104/2 4/3 =24.49)]
Moo [ —[4=75°,C=45 b= (214243 = 5144)}
2=[B=754=60° c=(12+2 /3 =2939)]
1—[c—60,b:(26ff=63.69),a=(13f«/§+39f=87.00)]}

NOSZ[' IR o
2=[B=30%c=72a= (7243 = 124.71)]

Nod=[a=84,b=(424/2 /3 =102.88), 4 = 45°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKXXXKXM5/1-6700307-00011XX

TrigonometryExercise7 for No.10000

TrigonometryExercise7 for No.10017

NO]_{ I=[C=45a=(274/2 3 =66.14), b= (27 + 2743 = 73.77)]
TL2=[a=54,b=(184/2 43 =44.09), c = (942 /3 +274/2 = 60.23)]
{1:[3:750, C=60°,az(20«/5«/§z48.99)]}
No2 =
2=[4=15° B=30° c= (3642 =50.91)]
A=60° c= (1242 4/3 +364/2 =8031), b= (2442 4/3 = 5879)]}

I=[
No3 = [ 2=[C=30°b=(604/3 = 103.92),a=60]
No4=[a=78,b=(39ff=95.53),A=45]

):9:0:9.0:0:9.0.0:9.0:0:9:9:0:9.9.0:9.0.0:9:0.0:9.:0.0:9.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:9:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXXKXXKXKXME5/1-6700307-00012XX

TrigonometryExercise7 for No.10025
o _[.1 —[a=84,b=(42+424/3 =114.75),c = (424/2 /3 = 102.88)]}
2=[C=30°b=48,a=(48+/3 =83.14)]

Moo - { S [C=15°,B=45,a= (334243 = 8083)}
2=[C=75% A4=60°b=(28+/2 /3 =68.59)]

1=[C=30 ,b=(36ﬁ+ 36[[: 139.09), a = (724/2 = 101.82)]}

No3=|" "
{ 2=[A=45% c=(45+454/3 = 122.94), b= (454/2 = 63.64)]

Nod=[a=84,b= (8443 =145.49),4=30°]
XXKXHKXKX KK KKK KX KKK KKK XKL KL KKK KKK L KKK KL KL KKK KKK KKK KKK KK KKK

X [Page = 0003]




):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXXKMS/1-6700307-00013XX
TrigonometryExercise7 for No.10057

I=[a=78,b=(784/3 = 135.10), ¢ = 78] }
2=[B=45¢=(30+304/3 =81.96),a=(304/2 =42.43)]
Nozz['] =[C=60°,B=75°,a=(24ﬁﬁ=58.79)]J
2=[C=75° B=45° a=(394/2 43 =95.53)]
N03:{1 _ [C=60°,a=(10«/5«/§+30«/5:66.92),bz(20«/§«/§z48.99)]}
2=[B=30°c=(724/2 =101.82), a= (3642 /3 —=364/2 =37.27)]

Nod =[a=54b=(274/2 3 =66.14), 4 = 45°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700307-00014XX

TrigonometryExercise7 for No.10061

I=[B=60°a=(12424/3=2939),c=(64/2 3 +184/2 =40.15)]
Nol =
2=[a=(54+2=7637), b=(2742 +274/2 4[3 = 104.32), ¢ = 54]
I =[C=15% A4=45° b= (4242 /3 = 102.88)]}

2=[B=60°,C=75% a=(184/2 4/3 =44.09)]

I =[B=30°c=(904/3 = 155.88), a = 90] }
2=[A=45 b= (1542 =2121), c = (15+154/3 =40.98)]

Nod=1[a=90,b=(90+/3 = 155.88), 4 = 30°]

):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00015XX
TrigonometryExercise7 for No.10071

NO]:[ d=[a=(334/3 =33=24.16),b=66, c = (334/2 /3 =80.83)] }
2=[C=60%a=(154/2 3 +454/2 =100.38), b = (304/2 4/3 = 73.48)]
.]:[B:60°,C=75°,a:(18«/5«/§:44.09)]}
2=[C=45°B=15% a= (4542 /3 =110.23)]
N03:{]:[B:6O°,c:(7«/5«/§+21 2:46.84),a:(14«/5«/§:34.29)]}
2=[A=45°b=(21424/3 =51.44),c = (214/3 =21 = 15.37)]

Nod=[a=178,b=(394/2 /3 =95.53), 4 = 45°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00016XX

TrigonometryExercise7 for No.10088

NO]:[.1:[B:60°,a:(22«/5«/§:53.89),c:(llﬁ«/g+33«/5:73.61)]}

2=[a=72b=(3642 43 =88.18), c = (364/3 — 36 = 26.35)]

NoZ—[l _[B=75° 4 =60°,c=(10«/§«/§=24.49)]}
2=[B=30° C=30%a=(364/3 =62.35)]

No]z[

NoZ:{

NoS‘z{

NoZ:{

N03_{1=[C=30°,a=(90ﬁ=127.28),b=(45ﬁﬁ—45 2 =46.59)]}
TL2=[B=60° a=(184/2 43 =44.09), c = (94/2 /3 +274/2 =60.23)]

Nod=[a=72,b=(724/3 =124.71),4=30°]
X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXKXXKXKXKXKKXKXKXKKKKXKK



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXKXMS/1-6700307-00017XX
TrigonometryExercise7 for No.10385

NO]:{ d=[A=45°b=(27+3 =27=19.77), ¢ = (274/2 43 = 66.14)] }
2=Ta=(26+24/3=63.69),b=78,¢=(134/2 /3 +394/2 =87.00)]
NOZZ{I:[C:75°,A:6O°,b:(24«/5«/§:58.79)]J
2=[B=105°, C=45°, a= (3042 =42.43)]
NOSZ[.I:[C:45°,bz(lS«/E«/g=44.09),a=(18+18«/;:49.18)]}
2=[B=30°c=(304/3 =51.96), a =30]
Nod =[a=84, b= (8443 = 145.49), 4 = 30°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700307-00018XX
TrigonometryExercise7 for No.10387

d=[a=(39+42=55.15), b =78, c = (39 + 3943 = 106.55)] }

Not = [2 [4=60%c=(124/2 43 +364/2 =80.31), b= (24/2 4/3 = 58.79)]
{ —[C=45B :15,a:(21«/7«/7:51.44):|
No2 =
2=[4=30° B=105°, ¢ = (364/2 =50.91)]
NOS_{]:[A:6O°,c:(7«/E«/§+21 2:46.84),b:(14«/5«/§:34.29)]}
T 221C=30%a=(3042 43 =304/2 =31.06), b= (604/2 = 84.85)]

Nod=1[a=66,b=(66+3 =114.32), 4 = 30°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00019XX

TrigonometryExercise7 for No.10914

NO]{ I=[B=45° c=(424/2 =59.40), a = (42 + 424/3 = 114.75)] }

2=[a=48,b=(164/2 43 =39.19), c = (842 /3 +244/2 = 53.54)]
I =[A4=30°% C=105% b= (6042 =84.85)] }

2=[B=454=15 c= (2142 /3 =51.44)]

N03:[ I=[A=45°b=(33+334/3290.16),c = (334/2 /3 =80.83)] }

2=[C=60%b=(1242 43 +364/2 =80.31), a=(24+/2 4/3 =58.79)]

Nod=1[a=18,b=(78+/3 = 135.10), 4 = 30°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00020XX

TrigonometryExercise7 for No.10945

[.1: [a=(1342 43 + 39«/5:87.00),b:78,c:(26«/5«/§:63.69)]}
Nol =
2=[A=30° b= (8442 =118.79), c = (424/2 +[3 —424/2 = 43.48)]
[.]:[C:60°,B=75°,a:(24«/5«/§:58.79)]}
No2 =
2=[B=105° 4=45 ¢ = (2142 =29.70)]

1=[A=45b=(1542 =2121),¢= (15 + 15«/§=40.98)]}

2=[B=30° c=42, a=(424/3 =72.75)]

Nod=1[a=66,b= (33423 =80.83), 4 =45°]

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXKKKKKKXXXKXKXKXKXKKXKXKXKXKXXXKXKXKXKXKXKXKXKKXKXXXXKXKXKXKXX

NoZ:[

No3 = [



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXKXMS/1-6700307-00021XX
TrigonometryExercise7 for No.10954

Noz{ d=[a=36,b=36,c=(3643 =6235)] }
2=[B=60°c=(84/24/3 +244/2 =53.54),a= (1642 4/3 =39.19)]
Noz—['] _[B=75" C=60°,a=(30«/§«/§=73.48)]}

TL2=[4=45,C=15° b= (1542 4/3 = 36.74)]
{1 —[B=30%a= (7242 =101.82), c = (36 4/2 +364/2 /3 = 139.09)]}
No3 =
2=[C=45°b=(304/2 /3 =73.48), a = (30 + 3043 =81.96)]

Nod=[a=18,b=(78+/3 = 135.10), 4 = 30°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700307-00022XX

TrigonometryExercise7 for No.10966

o :{1 —[a=84,b=(844/2 = 118.79), c = (424/2 +424/2 /3 = 162.28)]}
2=[B=45,a=(3942 =55.15), c = (39 + 394/3 = 106.55)]
d=[4=30° C=15% b= (5442 =76.37)] }
—[A=75° C=45° b= (45243 =11023)]
N03:[1 :[A:45°,c:(30«/5«/§:73.48),b:(30+30«/§:81.96)]}
2=[C=30° b=(664/3 = 11432), a = 66]
Nod =[a=48,b= (2442 /3 =58.79), 4 = 45°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00023XX
TrigonometryExercise7 for No.11154

o { T =[a=90,b=(454/2 = 63.64), c = (45 + 45 /3 = 122.94)] }
Do [B=60°, c= (1442 43 +424/2 =93.69). a = (2842 43 = 68.59)]
1 =[A4=30° B=105° c—(72«/7—10182)]}
2=[B=60°, C=75" a=(28+/2 /3 =68.59)]
N03:{1=[C=30,b=(6of=84.85),a=(3off—3of=31.06)]}
2=[A=45°c=(304/24/3 =73.48), b= (30 +30+/3 =81.96)]

Nod=[a=42,b= (4243 =72.75), 4 = 30°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00024XX

TrigonometryExercise7 for No.11191

NO]Z[ d=[a=(6643 =114.32), b =66, c = 66] }
2=[B=60°a=(12424/3 +364/2 =8031),c = (244/2 4/3 = 58.79)]
{Iz[C:15°,A:45°,b:(45«/5«/§:110.23)]}
No2 =
2=[C=30% B=15°, a= (6642 =93.34)]
N03{ 1=[C=30%b=(1542 43 —154/2 = 15.53),a = (3042 = 42.43)] }

2=[B=60° c=(9424/3 +274/2 =60.23), a=(18+4/2 4/3 = 44.09)]

No4=[a=36,b=(3643 =62.35),4=30"]
X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXXKXXKXKXKKXKXKXKKXKXKK

AbZ:{

No2 = {



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXKXMS/1-6700307-00025XX
TrigonometryExercise7 for No.11309

{ d=[a=(36+2=5091), b=(36+36+3 =98.35), c = 72] }
Nol = o
2=[A4=30% c=(424/2 +424/24/3 = 162.28), b= (844/2 = 118.79)]
NOZ_{I:[A:45°,C:75°,b:(36«/5«/§:88.18)]}
2=[C=30°4=30%b=(724/3 = 124.71)]

I =[A=30° c=(544/3 =93.53), b= 54] }

2=[C=45° a=(24+24/3 =65.57), b= (2442 =33.94)]
Nod =[a=30,b=(30+3 =51.96), 4 = 30°]

):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700307-00026XX
TrigonometryExercise7 for No.12483

{12[az(lZ«/E«/g+36«/5=80.31),b:(24«/5«/;:58.79),c:72]}
Nol =
2=[B=45c¢=(304/2+/3 =73.48), a = (304/3 =30 =21.96)]
[.1:[/1 75°, C= 60° b= (244/2 43 = 5879)}
No2 =
2=[4=15° B=30° c= (3642 =50.91)]

N03_[ T =[A=30° b=(184/2 +184/2 4/3 =69.55), c = (364/2 = 5091)]}

L2 _[c_6o,a_(lofﬁ_24.49),b_(5ff+15f_33.46)

Nod=[a=72,b=(3642 3 =88.18), 4 = 45°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00027XX

TrigonometryExercise7 for No.12557

N01=[ d=[a=72,b=(724/2 =101.82), ¢ = (364/2 4/3 = 364/2 =37.27)] }
2=[B=60°c=(104/2 43 +304/2 =66.92), a=(204/2 4/3 = 48.99)]
Moo { —[C=45°,B=15a= (364243 = 8818)}

2=[A4=60° B=75 c=(28+2 /3 = 68.59)]
Nosz[zz[czm,a:(lofﬁ=24.49),b=(5ff+15[:33.46)]}
2=[B=45,a=(36424/3 =88.18), c = (36 + 36 /3 = 98.35)]
Nod=[a=178,b=(394/2 /3 =95.53), 4 = 45°]

):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00028XX
TrigonometryExercise7 for No.12637

NO[_[ d=[a=(7242=101.82), b=72, c = (364/2 +364/2 43 = 139.09)] }
TL2=1C=60° a= (1042 4/3 +304/2 =66.92), b= (2042 4/3 = 48.99)]
NO2={]=[B:75°,C=60°,a:(24«/5«/§:58.79)]}

2=[4=30° C=105%b=(304/2 = 42.43)]

NoS‘z[

Nogz[ -1=[B=30°,a:(72ﬁ= 124.71), c = 72] }
2=[C=60° b=(124/2 43 =29.39). a= (642 /3 + 184/2 =40.15)]

Nod=1[a=84 b= (42423 =102.88), 4 = 45°]
X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXKXXXKXKXKXKXKXXKXKXKXXXKKKXKXKXXKKXKXKXKXKK



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXKXMS/1-6700307-00029XX
TrigonometryExercise7 for No.12689

Nolz{lz[az(S«/E«/;+15«/5:33.46),b:(IO«/E«F=24.49),c:3O]}
2=[A=45b=(33424/3 =80.83), c=(33/3 —33=24.16)]
NOZZ[.I:[B:60°,A:75°,c:(14«/5«/§:34.29)]J
2=[C=45°,4=75b=(184/2 4/3 =44.09)]
NOSZ[.I:[C=60°,a=(20«/5«/;:48.99),b:(IO«/E«/g+3O 2:66.92)]}
2=[B=45c=(33+334/3=290.16),a = (334/2 = 46.67)]
Nod =[a=30,b=(30+3 =51.96), 4 = 30°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700307-00030XX
TrigonometryExercise7 for No.13349

NO]{.J:[B:60°,c:(9«/5ﬁ+27 2 :60.23),a=(18«/5«/§=44.09)]}
2=[a=66,b=(33+334/3 =90.16), c = (3342 = 46.67)]
I=[C=30°4=30% b= (6643 =11432)] }
2=[A4=60°, C=75°b=(284/2 3 =68.59)]

{1 —[B=60%c=(5424/3 + 15«/5:33.46),a:(10«/5«/§:24.49)]}
No3 =
2=[4=30°%c= (4242 =59.40), b= (214/2 4/3 = 214/2 =21.74)]

Nod =[a=54b=(274/2 3 =66.14), 4 = 45°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00031XX

TrigonometryExercise7 for No.13519

NO[Z[ d=[a=(2142143 =5737),b=42, c = (214/2 4/3 = 51.44)] }
2=[C=60%b=(104/2 43 +304/2 =66.92), a = (204/2 4/3 = 48.99)]

.1=[B=45°,C=105°,a=(36«/5=50.91)]}
2=[C=30°4=105 b= (422 =59.40)]

N03:[1 _[B=45% c=(33424/3 =80.83),a=(33 +33«/§=90.16)]}
2=[4=30°b=78,c=(784/3 = 135.10)]
Nod =[a=30,b=(304/3 =51.96), 4 = 30°]

):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00032XX
TrigonometryExercise7 for No.14276

I =[a=(66+3 =114.32), b= 66, c = 66] }

Nol :[.2= [4=60%b=(2042 /3 =4899), ¢ = (104/2 4/3 +304/2 = 66.92)]

N02=[

NoZ:[

NoZ—[l —[B=45° C= 105, a=(45«/5=63.64)]}
2=[C=30° B=15%a= (5442 =76.37)]

[ I=[C=30% a=(544/3 =93.53), b=54] }
No3 = o

2=[A=45b=(2742 =38.18), c = (27 +274/3 = 73.77)]

No4=[a=90,b=(90+/3 =155.88), 4=30°]
X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXXKXKXKKXXKXKXKKXKXKK



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXKMS/1-6700307-00033XX
TrigonometryExercise7 for No.14380

{1:[a=(8«/5«/;+24«/5:53.54),b:(16«/5«/7=39.19),c:48]}
Nol =
2=[B=45,c=(2142+/3 =51.44), a = (21 + 2143 =57.37)]
{1:[B=30°,A=3o°,c=(42ﬁ=72.75)]}
No?2 =
2=[B=45°4=105c= (3642 =5091)]

N(ﬁ{ I=[C=45°b=(304/2 43 =73.48),a=(304/3 —30=21.96)] }
TL224=60° c=(9424/3 +274/2 =60.23), b= (1842 4/3 = 44.09)]

Nod=[a=72,b=(3642 /3 =88.18), 4 = 45°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700307-00034XX

TrigonometryExercise7 for No.14393

NO]:[.Iz[az(20«/§«/§=48.99),b=60,c:(loﬁ«/;+30«/5:66.92)]}
2=[C=30%a=90,b=(904/3 = 155.88)]

J=[A=105°, B=45, ¢ =(1542 =21.21)] }
2=[B=754=60°c= (1842 /3 =44.09)]

[1 —[C=60°a=(15424/3 +454/2 = 100.38),b=(30«/§«/§:73.48)]}
No3 =
2=[B=30°%c= (8442 =118.79), a = (424/2 /3 — 424/2 = 43.48)]

Nod =[a=48,b= (2442 /3 =58.79), 4 = 45°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6700307-00035XX

TrigonometryExercise7 for No.14417

NOI:{1:[A=3O°,c:(30«/5:42.43),b:(lsﬁ«/g—15«/5=15.53)]}

2=[a=(18+42 =25.46), b= (18 + 1843 =49.18), ¢ = 36]
NOZZ[.]=[C=75°,A=60°,b=(26«/5«/§=63.69)]}
2=[B=105°, C=30° a=(42+2 =59.40)]
1=[C=30°b=(904/3 = 155.88), a =90] }
2=[B=45,c=(274/3 =27=19.77),a = (274/2 43 = 66.14)]

No4=[a=78,b=(394/2+/3 =95.53), 4 =45°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢
(>

NoZ:[

N03:[




